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2. Find the indefinite integral.
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4. Find the indefinite integral.
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6. Find the indefinite integral.

x-28 = ,Q(x+2.\)+'36<~3)

when x =23 whenx =-2
-25=5A -30 =-5B
~-5=A =
| °"® | [RewisED
| 3:14 pm, 10/1/06

Page 2


Patrick Sr
Revised


7. Find th;zindcﬁnitc integral. _ZXH 5= A (x- Y+ BYX+5)
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10. Find the indefinite integral.
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11. Use integration tables to evaluate the integral.
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12. Use integration tables to evaluate the integral.
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13. Use integration tables to evaluate the integral.
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14. Use integration tables to evaluate the integral.
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15. Use integration tables to evaluate the integral.
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16. Use integration tables to evaluate the integral.
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17. Use integration tables to evaluate the integral.
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18. Use integration tables to evaluate the integral.
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19. Use L'Hopital's Rule to evaluate the limit.
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20. Use L'Hopital's Rule to evaluate the limit.
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21. Use L'Hopital's Rule to evaluate the limit. 2%
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22. Use L'Hopital's Rule to evaluate the limit
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